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B Fixit:

library lieee;

use lieee.2td logic 11&4.all;
Eentity maxd4l i=

port

(
a,b,c,d: in =td logic’
=: 1n std logic wvector{l downto 0):
v ouat std_lagic

)i

end muxdl:

marchitecture bhv of max4l is
= begin
B rprocesz|=)

begin
case = i=
when "00"=ry<=a;
when "Ol"=»ypi=h:
when "10"=>w<=c;
when "11"=>y<=d;
end case;

end process:
end bhv;
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B FR it

library leee;
use ieee.zstd logic 1lé4.all;
Bencitcy led7 is
Dort
= (= rim stci_l-:ugi-:_*.rectar[Edumtc- o) »

led7: out std logic vector (& downto O0)):

end -
B architecture bhv of led7 is=
Eb=gin
—| process (a)
begin
= cagse a(3downto Q) is

when "0000™=> led7 <="1000000";
when "0001™=> led7 <="1111001";
when "0010™=> led7 <="0100100";
when "0011™=> led7 «<="0110000";
when "0100™=> led7 «<="0011001";
when "0101™=> led7 «<="0010010";
when "0110"=> led7 <="0000010";
when "0111"=> led7 <="1111000";
when "1000"=> led7 <="0000000"™;
when "1001"=> led7 «<="0010000M™;
when "1010"=> led7 «<="0001000M™;
when "1011"=> led7 «<="0000O011™;
when "1100"=» led7 «<="1000110"™;
when "1101"=» led7 «<="0100001"™;
when "1110"=» led7 «<="0000110"™;
when "1313131"=% led7 <="0001110";
when others =>null;

end case;

end process;
end bhw;
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B 15 FLE 46 R AR B LA 458

4 a=0(0000) it 1led7=1000000 1t Bt 45 53 % & 7K 0;
L a=1(0001)#f led7=1111001 M.B 45 E TR 1;
4 a=2(0010) AT 1led7=0100100 M. B %555 & TR 2;
L a=3(0011)H 1led7=0110000 It A #K A& TR 3;
L a=4(0100)Af 1led7=0011001 I H $ A& TR 4;
L a=5(0101)Ff 1ed7=0010010 LA+ %0 A& & 7R 5;
Y a=6(0110)H 1ed7=0000010 It B #K A E & oK 6;
L a=7(0111)8f led7=1111000 M. H #K & & TR 7;
L a=8(1000) 8t 1led7=0000000 I Bt % & 7~ 8;
2l a=9(1001)Hf 1led7=0010000 I B A& TR 9;
Y a=10(1010) B 1led7=0001000 Bt %80 & B o) A;
4 a=11(1011)Ff 1led7=0000011 AT #54 % T 71 B;

L a=12(1100)Et 1ed7=1000110 It AF # 4 E B R C;



2 a=13(1101)H 1ed7=0100001 It A3 8 & & K D;
2 a=14(1110) A 1led7=0000110 I # A€ &R E;
L a=15(1111)8f 1ed7=0001110 M.t #x5% % & oK F;
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library ieee;

u=se ieee.std logic 11&é4.all;

u=se iEEE.std_lngic_unsignEd.all;
Eencicy counterd is

portc

= 'l

reset: in =td logic;
clk: in =std lEgic;
enable: in std logic;
updown: in std_lngic;
count: out std_lngic vector (3 downtao 0);
co: ouk std_lnaic B
=
end counterd;
B archicecture arc of counterd4 is
gignal cnt:std logic wvector (3 downto 0);

EEb=gin
E process|(clk,re=set)
begin
—| if reserc='1'" then
cnt<= (others=>"'0");
—| glsif clk'event and clk='1l'" then
—| if emnable='1l"'" then
—| if wpdown='1' then
—| if cnt="1111"then
cow="1";
cnt<="0000";
—| gelse
co<="0";
cnt<=cnt+l;
end if;
—| gelse

if cne="0000" then
co<="1";
cnt<="1111";
else
co<="0";
cnt<=cnt=1:
end if:
end if:
end 1f:
end i1f;
end process;
count<=cnt;
end arcr
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e Fixit:

library ieee;
use i1eee.std logic 1164.=211;
use iEEE.std_lugic_ansigned.all;
Eentity cncd0m is
porxrtc
= ( reset: in std logics
clk: in std logics
enable: In std logics
count: out std logic vector (27 downto 0);
Co: out std logic
|-
end cnt40m;
marchitecture bhv of cntd40m is
signal cnt:std logic wvector (27 downto 0):
Ebegin

B process(clk,reset)
begin
= if resetc="1" then
cntes=(others=>"0") =
el=zif clk'event and clk="1" then
if enabhle="'1"'" then
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